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QUESTION 1

Which of the following is true about sharding? 

A. Creating a sharded key automatically creates an index on the collection using that key 

B. We cannot change a shard key directly/automatically once it is set up 

C. A sharded environment does not support sorting functionality since the documents lie on various mongod instances 

D. Sharding is enabled at the database level 

Correct Answer: B 

 

QUESTION 2

Which of the following commands will return all the posts with number of likes greater than 100 and less than 200, both
inclusive? 

A. db.posts.find({ likes : { $gte : 100 , $lte : 200 } } ); 

B. db.posts.find({ likes : { $gt : 100 , $lte : 200 } } ); 

C. db.posts.find({ likes : { $gte : 100, $lt : 200 } } ); 

D. db.posts.find({ likes : { $gt : 100, $lt : 200 > > ); 

Correct Answer: A 

 

QUESTION 3

Which of the documents below will be retrieved by the following query? Assume the documents are stored in a
collection called "sample". Check all that apply. 

db.sample.find( { "$or" : [ { "a" : { "$in" : [ 3, 10] > }, { "b" : { "$lt" : 2 > > ] > ) 

A. {\\'\\'__id" :3, "a": 4, "c" :0, "b" :14} 

B. {\\'\\'_Jd" :7, "a": 8, "c" :1, "b" :7} 

C. {".Jd" :6, "a": 1, "c" :1, "b" :5} 

D. { \\'\\'\Jd" :9, "a": 17, "c": 1, "b": 1} 

E. { \Jd" :10,"a": 3, "c": 1, "b": 1} 

F. {".Jd" :: 2, "a": 2, "c" :: 0, "b": 1} 

G. {".Jd" :: 4, "a": 5, "c" :: 0, "b": 17} 

H. {".Jd" :: 1, "a": 0, "c" :: 0, "b": 2} 
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I. {".Jd" :: 5, "a": 3, "c" :: 0, "b": 12} 

J. {".Jd" :: 8, "a": 11, "c": 1, "b": 0} 

Correct Answer: DEFIJ 

 

 

QUESTION 4

Consider the following document: > db.c.find() 

{ "_id" : 12, b : [ 3, 5, 7, 2, 1, -4, 3, 12 ] } 

Which of the following queries on the "c" collection will return only the first five elements of the array in the 

"b" field? E.g., 

Document you want returned by your query: { "_id" : 12, "b" : [ 3, 5, 7, 2, 1 ] > 

A. db.c.find( { > , { b : { $slice : [ 0 , 5 ] } } ) 

B. db.c.find( { b : [ 0 , 5 ] > ) 

C. db.c.find( { > , { b : { $substr[ 0 , 5 ] > > ) 

D. db.c.find( { > , { b : [ 0, 1, 2, 3, 4, 5 ] > ) 

E. db.c.find( { > , { b : [ 0 , 5 ] > ) 

Correct Answer: A 

 

 

QUESTION 5

Which of the tags in a replica set configuration specify the operations to be read from the node with the least network
latency? 

A. netLatency 

B. secondaryPreferred 

C. nearest 

D. primaryPreferred 

Correct Answer: C 

C100DBA VCE Dumps C100DBA Practice Test C100DBA Exam Questions

Powered by TCPDF (www.tcpdf.org)

C100DBA VCE Dumps | C100DBA Practice Test | C100DBA Exam Questions                                3 / 3

https://www.geekcert.com/c100dba.html
https://www.geekcert.com/c100dba.html
https://www.geekcert.com/c100dba.html
http://www.tcpdf.org
https://www.geekcert.com/c100dba.html
https://www.geekcert.com/c100dba.html
https://www.geekcert.com/c100dba.html

